F139ELIE

EEERELBEREFEAR

#A8 . zFﬁJZZQﬂEQJEISEI (&) -108 (H)

RIFEmBR—ER
(GR: K% 5 F (BEEci5) 172070 REFmERELHFRS
11 2fu 3 fi 4L i 6 fi 7 fiL 8 fi
A/8 # B B K& PR it 8% K& R ik K& R it & K& FE i & K& R it &KR R ik K& R 5L % KB FE AL 8%
09/09 [BF BENELYD C00[ER = . St I8 - 23[BH FRC (D CA0]RAT 1 CATTEO & (D ATEE B2 CA8TRL F(2) 6
100m =t hiREF =ik REH =2k RESE m#’x i R¥ =R REFTE =i BR = RESE =B
09/10 +1.6BT ®(2) 21.86| 548 F1E(2) 22.07 [ () 22.52|¥Am BB (1) 22.69 |4 WG Q) 22. 74|84 X Q) 22.82|RE &4 (2) 23.00| & g (1) 23.20
200m =i REF R|EHK- RESHE GR| & - R =i BR = RE = BR E-miIRE ERETE
09/08 RE &EQ 49.75(i A FIC (2) 50.38|E18 —12(2) 50. 52| &1& FE(2) 53. 20|48 & (1) 53.66| AfRE 1 (2) 53.98 |l EA(2) 53.99;ZMA FHith (2) 54,61
400m =i REF =% TR =2tk RE=E a2 RESE =1 = mIRE E-BR = AR
09/10 BE —1EQ 1,58 17/8%)Il B4 (2) 1,59. 40 |Fg& T (1) 2,00.97|h 8 F&EW) 2,03.65(FiZ BABI(2) 2042541 X2 2,06.40(FH )1 £ (2) 2,07.17|3%R Bk (2) 2,09.63
800m =2 REEE =% AR =tk RHE s RETE = i-EEr = REFR =1k fRil =tk RESH
09/08 ALl FHEM) 4,09.79|BH E# 2 4,10. 77 |%#F (1) 4,11.37/8%)Il B4 (2) 4,11 74\ 528 2) 4,12.84|BH#F XE() 4,22.52\7p 5 BR{E(2) 4,22. 6538 A #IR() 4,23.07
1500m = RHEAX =tk RESE = REAX =8 AR =B R =8 AR - RETE = RETE
09/10 HE #8570 15,51. 38|18+ Bmm (2) 15,56. 47|l #RE (1) 16,06.07| & H {£%# (2) 16, 08. 50 [#3 (LE& (1) 16, 40. 21 B &A1) 16, 43. 21 \#&HF K= (1) 16,45. 73 |4t #I% (1) 16, 47.24
5000m = RE =k &% = REFAX =k RS =2 RE=E = AR =1 AR =k -RHES
09/08 +1. 4[N [E5R (2) 16.64| X% B35 (2) 16.97#5K & (1) 17. 73| Bl 3B (1) 17.92| E% $8X(2) 17.92|=# #:AX(0) 17.92[itE Ei (2) 18. 74| B5 EXEQ) 18.77
110mH (1. 067) = REBAX = RE - RHEIXE = BIRAIR =i P B SR - RESE = - P B I AR = PSR
09/09 RE &EQ 55 11|F3iE #0iE (2) 57.86|&F7K FIAQ) 58. 20| ILA FKX(2) 58. 22|l EA(2) 1,00.10|F8& E(2) 1,00. 11|;thE B (2) 1,02.16 7HE 1 (2) 1,03.39
400mH (0. 914) = hi R ERETE =t RER EfRETE Ek-BR Et-RHEEX = - P B I S AE =% - AR
09/09 HE #5702 9,46.98|F# 54 (2 9,51.04|Fh#t fFh (1) 9,54.57| 5@ ££# (2) 10,02. 18|AH E(1) 10,07.51 @ =R (1) 10,23.90\ =1l f&AX(2) 10,25.92 1t & %12 (2) 10, 32. 03
3000mSC a-REH =i BR a-REBAX =k RS = REBK = REEX - gRIl =t RE
09/10 #?R XF Q) 23, 17.19|hi B3E(Q)  24,01.37\B48 #E/L(2)  25,40.83|AK £2(2)  28,17.60|8%%F B Q) 31,40 17(sh#f &K () 3141121 F3H# &H(1) 34,49.84
5000mW - REITXE R RHTE = REAE = At = AR =t REE =k REGH
09/09 MER fmit (1) 1.85| L% 5EKR(2) 1.85|8R 5 HF(2) 1.70[F=F 52 1.65| T+t #](2) 1.65|X#| Kk (1) 1.65|F & REQ) 1.55
EEBk =% - PSR = PRI SR a-RHE = P IR EAE = REFEE =2 RESE =k BR
09/09 wpg & (2) 3.90| Bk E=ig(D) 3.90|x%F E&E 2 3.70|Hh 8 & (D) 310K AL (1) 2.80(iBH Wt (2 2.60| Bt [E(1) 2.40
BEk =% - AR =% - RIS = R =B - EHTXE T%'*’?i AR =A% - AR
09/08 X BEQ) 6.54(+2.0) [BE% HE(1) 6.49(+0.2) |BR BEKX(2) 6.49+0.7)|ETF ¥ (2  6.41(+0.6) |["TH E%(2) 6.26(+1.3) [0 BN (1) 6.26(+3.0) =45 ;TR () 6.22(+1.1) [ILkE BIF(2) 6.06(+4.0)
EEBE =i PSR =ik TR =i AR =k TR - RHETXE =tk B = ARl = AR
09/10 AR BKR(Q2) 13.95(+1.5) [FE FIE(Q2) 13.57(+2. 1) |B%F HE ) 13.48(+1.2) [/hk HE(2) 12.92(+2.3) | &1 ,IFJZ(I) 12.89(+0.7) |[B& A (2) 12.79(+1.6) |/th FE (1) 12.66(+2.0) |[F:E F#E(2) 12.52(+2.2)
=Bk =% - AR =ik RE =tk fIRE =ik RES =% EfmIRE Et-RESH ERETE
09/09 FE #EQ 11.60| =48 EA (1) 1. 29| B&)I &KX Q) 10. 64| FafE TiE (2) 10.37|33@ *‘ﬁ(l) 10. 29| RE 0 (2) 9.83| Bl Fi*(2) 9.29| A% H it (1) 8.80
it 1% (6. Okg) =% - AR =% - BIRAIAR E-RESH m - LA =% - EIR A = - REEX &= - ARl =i P ISR
09/10 BiE BAN) 31. 47| %k BiE() 29. 24| BB &KX (2) 28. 09| RE #6Z (2) 27.92|3H B (2) 27. 13|58 FH(2) 26.93| &R =m(Q) 2410|358 = (1) 23.21
P #4% (1. 75kg) =% - IR AR Es - P B S AR a- RESH Ei- REFEX =% - EIRAI A =Rl =k EREE = - ZARBIAK
09/08 2 R (Q2) 35.39|3id EAC (2) 35.30|F# @B& (1) 28. 31|33 +LA (D) 22.25|5 Fi¥(2) 20.52 | %=k #4& (1) 16. 21
Ny3-1% (6. Okg) E*ﬁ-ﬁﬂ‘&%% Es - ARAIRL - RETE =ik BIRR =tk ARl = AIRR
09/08 FE #E£Q 53. 34| RA)Il &KX (2) 48. 79| £+ 1% (2) 44.50| S H S (2) 43.771AW X M) 43.611L0O #Eh (1) 43.10| UK BH (2) 41.65%m% B8 (1) 40.14
10 Y # (800g) =% - AR =ik REEH =i P a2k RESE =i REBX =g/ 3 =1 - AR = PR
09/09 MR 42. 96| ERX 43. 44| K5 43.95| RERE 43.97 REIT % 44.61|783R 4474 | Hh 8 4500 R & 45.29
4 x100mR BF %22 O &k (1) Z# ®I6Q) R R B A (1) A e (2) 2 BN Q) EE 3R (2)
tE i (2) HaFE BEA% (1) RS EQ 5E BIQ) g Q) Wps 81 (2) BA FE) =E B0
FR EXQ HiR @K (2 WL B2 (2) K R#E) B MIEQ) iz BAF(2) BA BEW TR Q)
RE &EQ il fii (2) % BE&EQ) B MEQ) it @A (1) FE #ILQ i RKEk (1) BH BAQ)
09/10 iR 3,20.27T| RE=® 3,24 15| RETHE 3,26.85| K 3,29. 15| RE S 3,30. 95| AR 3,31.43|8RIL 3,32. 87| R% 3,44.54
4 x 400mR BT ®Q GR | =1 MMEQ) e FHX(2) lE BA(2) 5@ IR Q) BHE ) A K Q) tiE BEF(2)
ARE Q) =2Z B2 At @A (1) 282 FRE 7oA (1) tLpg B (2) all Eh(2) 8 ®IGQ)
tE 3 (2) i B (1) e FEO) O &A1) R AR (2) EE 1B (2) A -0 R EQ
RE BEQ aE —1EQ) FIE HE Q) B BA (2 ZE %0 FE RELQ L% EF(Q2) =% E'%(2)
09/09 FE #B#E£Q M53|EE BRK () 3686 B Eith (1) 3389/ Ik 15 (2) 3003 |WuF K#E (1) 2634
JNTEFR R =% - AR Stk - ISR 2% REaE B DI AR =% REEH
- mIRE 92|78k 86| REF=H 84 REFTE nir% 65| Ep i1 5 AR 65| REFAXK 56|t 51
S E R




F1VEIEEFFPRELFERAEFIERS
#A - zFﬁJZZQEQHSEI (£) -108 (B) -
RIFELTZE—ER
(6R: X &#) z F [Briki5) 172070 REmEpELiriis
142 24 31 4 5 fiL 6 fi 7 1% 81
A/8 # B A K& AR it R KRR i & K& AR it BREEFE it ik K& AR i &%/PEE i % E%%/FEE B BRESEFE Rl
09/09 [&F —0. 7TEF fix 74T B () 12,82/ N OT[EE &%= . H . rES . C32[HO BAEQ 13.66
100m =T R =M EH = EHAX IS R34 =R EHAX .s,& EETEU: .—,& Egﬂiﬁ;ﬁ% =i XL ERE
09/10 +1.6;AA BWE (1) 25 14| A# #HiZE (1) 25.63|/h FFH(2) 25. 79|E# 6= (1) 25.94/FH fEx (1) 26. 33|15 #FRF(2) 26. 68 —Ha EFIE Q) 26.99 | 5% EE(2) 28.01
200m =R - TR GR| St REF = EHAX = - R - EHAX = EFeE - =i EIREE
09/08 TH EX0) 59. 54|k E=F (1) 1,00.33| &% #0(2) 1,01.48| T 2252 1,02 13|FB#k HOAH2) 1,02.32|hF KE(2) 1,05. 33 ik & (2) 1,06. 88
400m =R RHEEX - REEX = LR E RS =% - K =TI RS = R Bk Eimi =i B
09/10 ma 1 Q2) 2,13.69|&%& #&(2) 2,14 94|y EE () 2,18.96| b4t KE (2) 2,20.53|=%® E£# () 2,24 M| K5 RE(2) 2,31.59|t2 BEF (1) 2,32.61|hE EF Q) 2,36.95
800m =R - RHE Bk RER = EHAX = RER =R EHAX o EHeE = EHEE =% AR
09/08 Bk B0) 4,39.76|/MR EFI (1) 4,40. 43|55 £# () 447 3|=iE =8 4,56.02|fh{g B2 (2) 4,58.37\3ER HHMY (1) 5,05.92|XiE KE () 5,00.31 08 HF () 5,10.38
1500m =R - REHR k- RER = EHR = EHEX = - AR = EHFAX =R EHeE = AR
09/10 2 WIFaA)  9,27.59/FAA 1&TE(2) 10, 06. 87|18 ME (1) 10,09. 81|1hfE B (2) 10,41. 98|38 HHM Y (1) 10,42. 35| K £KRE(2) 11,05.52|h & H#F (2 11,09. 71 |4t mBAZE 1) 11,10.80
3000m = EHR GRIEH-EHE = EHR =4 - BRIl = EHAX 2 EHeE = - AR = EHAKX
09/08 +0. 9|Fkot ®Tm(2) 14.89| L% BFAF(2) 15. 48|k J& £KE (2) 16. 66| &1E S& (1) 17.15|A ZE 1) 17.29(;z BEmF (1) 18.06|48:8 Z & (1) 18. 22|28 FH Q) 18. 71
100mH (0. 840) = -miIER = EHE =T RS =% - ERAIRL = EHAX [ TR =3 54 = XIERE RS =B
09/09 Wi B54F(2) 1,04.83| %k Hva (2 1,07.39 BEmFA) 1,09. 91| EE ) 1,10. 44
400mH (0. 762) = EHeE =TI EH =TI RS = EHFEX
09/08 BE Zx Q) 29,14 94/ EH Q) 30,08 21| Lk () 33,13.19[1uO0 EM(2)  35,01.69
5000miV =R - KA = BB = RHR =ik KRB
09/10 HE Bk () 1.50{E3# TE(1) 1.45/h#k BHTE (2) 1.45\8E8 = (1) B XIEZERE 1.45|348 & (D) 1.40{ LA F8(Q2) 1.40| &+ HRL M) 1.40
E 5Bk = REHEAKX = EHEX =R EHER Fa 350 (0) ak-EHS =1 - R =TI REEH =R
09/09 FZSIE S HO) 3.20/=H MEQ® 2.20
EEk aR-EHITE =R EHER
09/08 B+ #% (1) 5 11(-0.5[WwE #&F 1) 5. 11(-0. RE() 5.08(+0.9) [R5 EXE(2) 5.05(-0.1) |3k HAE(1)4.86(-0.4) [FZE B5(2) 4.86(-0.2) [EH HEQ) 4.68(x0.6)[F%F BF (1)  4.49(+2.9)
EiEBk =T =A% Bl 5 - Bl B EHAA B REEX = EHEE = EHFBX =i B/ H
09/10 Wz #HE) 10.69(-0.1) [4B% = (2) 10. 17 (+0. mE) 10.04(+0.5) kR KE Q) 9.78(-0.8) |[E#5 K£FE) 9.59(0.0) |Ftr HMZ(1) 9.52(0.0) [E# X (2) 9.50(+0.1) [#R BRE (2) 9.37(+0.5)
=B = - Bl B EHAA = AR =R =% - ARAIR = EHFEX =A% - B AR =R MR
09/09 BH EW) 10. 02|/M#k =F (1) 8. =) 7.84|/h2 BT () 1.22iE & (2 1.21|hE &M 1.16|81E E& () T.05JER £ 6.88
FaM % (4. Okg) =i ERE =A% - Rl 5 - AR AL =% - hEF = EHEE =4 - BR =A% - ARAIR =i iR
09/10 IR =E (1) 30. 642K BIE (1) 24. #(1) 23.66|8R:A XA (2) 21.80|EH #HE(Q2) 21.68 (4@ b (1) 20. 60| BT &R 4E7H (1) 19.29|7:% B2 (2 19.17
M#4% (1. Okg) = AR - EREE Bk B EREE = R =R =% - BRI = RER
09/08 IR EF ) 28.04;EF E£8 (1) 26. 5 A=) 13.76| 54 &HhY (1) 13.24
Ny3-1% (4. Okg) =A% - BRIl =R EREE =i KRBT R REEE
09/08 WA B (1) 35. 75(# M (1) 31.39|FE B2 (2) 28.27| L% £%(2) 28.12{/h#k 5588 (2) 26.73| B #EH(Q2) 26.08|#H % (2) 24.92| 5@ #EFQ2) 24.22
X 1) 1% (600g) =i iR E =R R = EHR =A% - BN AR =i REFE B RHEE =AM =i RET
09/09 MRS 48. 3B EHAKX 49. B FEEE 52. 26| 8RLL 53. 62| #AfE 55. 67| REER 1,01. 04| RE & 1,02.97
4 x100mR A EE (1) GR| —@ BREQ HO BHEQ) g HE m\EYH) RS 545#Q2) Wig )
BEE ER) NG TEH(2) X8 #(Q2) = Eﬁ%}’(l) ¥R BE (2) INER BATE (2) BT 22502
A #3() TH EE0) HE CCH) INFR SREE (1) A 1) =g HEW) a8 #EQ)
KR KE 2 &8 16/ @ HEHE REEE (D) R FEE (1) HH A2 =H HMEQ E EA)
09/10 EHAX 3,57.27T|HikE 4,03. 37| RHF®R 4,08. 00| XL EEE 4,18. 52| RE A 4,25 58| R = 4,27. 16| REFAE 4,31.89 81U 4,34.16
4 x 400mR &8 R (2) KR KE(2) qﬂﬁ KRE () HE CCH() ME E (1) R &0FE (1) S& HmY (1) g 2% (2)
Al =& 1) B Hr#H(2) ER fEKQ HEdR BEE (1) Wig ) Xig KRB Q) TE WMEF) FII FEWM
NG $9h( EE =) EEs HEL(Z) AL BRTE (2) BT 22502 s #HaF(2) ARBATHN() $E BaTW)
: 1‘FB3 EEW) p—— M4 #izzd) mAR B X8 #(Q2) o B2 @ FE Q) HE EX0) INE RE ()
BHE &5 2)
BIiR BE (2)
m\EYHM
HE i)
09/10 T Mm@ 3503|1LE B (1) 3392| E¥ ££(2) 3286|KiI 22 A(2) 2910/ = A 2(1) 2778 ®E EX=(1) 2666
tiEw =y R =E-EHEX =4 B AR = - K =BR-EHFAX = EHEE
e [=123=PN 134|Hi RS 113 RER 84 |8k 1L [(HEXSTEES 50 REFFE 11 EHEE 29|\ iEZ2EES 24.5
R




